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.ﬂ.‘;‘ = b. For the given system shown 1g Ql(b) below apply the dlfferentlal equations in torque -
8 : voltage and torque current analogy Make nodal representation of this model (16 Marks) -
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,appeal to evaluator and /or equations written eg, 42+8

céinpﬁlsorily draw diagbnal cros_é lines o‘r’1>the rem
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'3 a Reduce the block dlagramiI shown in Fig. Q3(a) to its s1rnp1e form and hence obtam Ri i
. &« R(s) :
‘ e (10 Marks)
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< 2. Any revealing of identification

" Important Nofé :1.-On completing your answers,




i) Branch 111) Source nods iv) Forward path"and its gain
V) Feedback loop and its gain vi) Non touch ng*]oops
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: b.~ DCI‘IVC output response f an second order under damped control system
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p . Module—3
Investlgate the'stz pillty of a Closed — loop system whose characteristics equatlon is glven by"
»wS +gt "+2' +2¢? +3s+5=0. "~ % : ~ (12Marks)
v_b Investlg f tha stablhty ofa Closed  loop system whose characterlstxcs equatlon is given by
s+ 6s+15 ,O, o (08 Marks)

: : ~  OR \ ,
F Draw the root Tocus plot for all Values of K ranging fn 1.0 to oo for a negatxve feedback control,
: system havmg an Open loop\ nsfer function. :
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Deﬁne the follo\%Vmg i) Gain cross over frequency ii) Phase crossoyer‘ frequency;'
111) Resorrant peak  iv) Resonant frequencymw : ' ;

trol system showanlg Q7(c), find e B
Resonant ﬁequency 111) Bandwidth. For K = 21 39 100
‘(14 Marks)f
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;Whe;«%&gt)"is unit step function.




